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1. [lepeyeHb KOMNETEeHIIMA, MHAMKATOPOB JOCTHKEHHUSI KOMIIETEHUMH 1 ONMCAHUE MOKA3aTe/ield 1 KPUTEPUEB OlleHUBAHUS Pe3yJIbTATOB
00y4eHMsI M0 QM CHUILINHE (MOIYJII0)

dopmupyemasi Kon u Pe3syabTaTsl Iloka3aTesu 1 KPpUTEPUN OLIEHUBAHNS Pe3yJIbTATOB 00y4YeHHs 110 Bun
KOMIIETEHIIUSI HAUMEHOBAHHE o0y4eHus 110 AUCHUILINHE (MOAYJIIO) OLICHOYHOT
(c ykazaHuem HHAUKATOPA AUCUHMILINHE 0 cpeacTBa
KO0/12) AOCTUKEHH S (Mmony.110)
KOMIIeTEeHIIUHN
1 2 3 4 5
Hey/. YAOBJL. XOpouio OTJINYHO
YK-4. VK-4.1. 3naer OO6yuarommiics He 3naet 3HaeT Ha 3HaeT XOpoIlo 3HaeT Bce Tect
Criocoben JUTEPATYPHYIO  JTOJDKEH: OCHOBHbIE MIOCPEJCTBEHHOM = OCHOBHBIE OCHOBHBIE
OCYIIECTBISITE  (opMy 3HaTh OCHOBHBIE ATUYECKHUE YpOBHE STUYECKHUE 3TUYECKHE HOPMBbI
JIEIIOBYIO rOCy/IapCTBEHHO = 3TUYECKUE HOPMbI =~ HOPMBI B OCHOBHBIE HOPMBI B B
KOMMYHUKAIM IO SI3bIKa B npodeccuoHanbH = 3ITHYECKUE npodeccuoHansH  MpodecCHOHaIbH
10 B YCTHOM 1 Poccuiickoit npodecCHOHATLHO = OM OOIICHUY; HOpPMBI B OM OOIIIEHUY; OM OOIICHNH;
NUCbMEHHON ®denepanuu, M OOILEHHH; (baxTopsl npodeccuoHanbH = (haKTOpHI (bakTopsl
dopmax Ha OCHOBBI YCTHOH | (pakTOpBI yIIy4dlleHus OM OOIIEeHNH; yIIyqI1IEHUs yIIyqlleHus
rOCYJapCTBEHH W MHCbMEHHON | yIy4ylIeHUs KOMMYHHKAITMHA B~ (haKTOPBI KOMMYHUKaIlUl B KOMMYHHKalIUH B
OM SI3BIKE KOMMYHMKAIlMM = KOMMYHHUKallUd B NPOQECCHOHAIbH = YIy4IlIEHUs npodeccuoHanbH | MpoecCHOHaIbH
Poccuiickoii Ha poEeCCHOHATBHO = OM KOMMYHHUKAIlUU B OM oM
denepannu u MHOCTPaHHOM M B3aMMOJECHCTBUM = NPO(EeCcCHOHAIbH B3aUMOJEUCTBUN = B3aUMOJICHCTBUMY;
UHOCTpaHHOM(  S3BIKE, B3aUMOJICHCTBUU;  ; HOPMAaTUBHBIE, = OM ; HODMaTUBHbIE, = HOPMAaTHBHBIE,
BIX) sI3bIK€(aX)  TpeOOBaHHUS K HOPMAaTHUBHEIE, KOMMYHUKATUBH  B3aUMOJIEHCTBUM = KOMMYHUKATHBH KOMMYHHMKATHBHBI
JIeJI0BOM KOMMYHUKATUBHBI = bI€, STUYECKUE ; HODMATUBHBIE,  bI€, STUYECKHE €, STUYECKHE
KOMMYHHUKAIMH. | €, STUYECKHe aCHeKThl yCTHOM = KOMMYHUKATHBH = aclE€KThl yCTHOM = acCMeKThl YCTHOU U
aCHeKThl YCTHOW U Y MMUCbMEHHOU b€, ’TUYECKUE Y TUCbMEHHOMN MIMCbMEHHOU
MHUCbMEHHOM pEeUd. peYM. ACIIeKThl YCTHOM = peum. peun.
Y MUCBMEHHOMN
peun.
YK-4.2. OO6yuarommiics He Bnageet Jomyckaet Homyckaet CBoOoaHO Kontponsa
BripaxaeT cBOM = JTOJKEH: HaBbIKAMU OIIMOKY TpHU HE3HAUUTEJbHbIE & BIIAJICET ast pabora




MBICIIU Ha 3HATh oOuIeHus U O0IIeHUN U OLIMOKH MpH HaBbIKaMU
rOCYJapCTBEHHO = CTUJIMCTUYECKUE NESTEIIbHOCTU B JCSTEIbHOCTH B OOUICHUH U oOLIeHUS U
M SI3BIKE 0COOEHHOCTH MHOSI3bIYHOU MHOSI3bIYHOMN JESATEIIBHOCTU B JI€SITEIbHOCTH B
Poccuiickoii MpEeICTaBICHUS cpere, cpene, npu WHOSI3bIYHOMN WHOSI3bIYHOM
®denepanyu u pE3yJIbTaTOB AIIEMEHTAPHBIMH  O(OPMIICHUH cpene, npu cpene,
MHOCTPAHHOM KOMMYHUKAllUi B HaBbIKAMH peYeBBIX odopmieHUN 3JIeMEHTapHbIMU
A3BIKE B YCTHOH U oopmienus BBICKA3bIBAHUN B = PEUYEBBIX HaBbIKaMU
CUTyaluu MUCbMEHHOU peUeBBIX COOTBETCTBUM C  BBICKAa3bIBaHWI B = O(OPMIICHHS
JIEJI0BOM ¢dopme Ha BBICKA3bIBAaHUI B TI'paMMaTHYECKUM COOTBETCTBHM C  PEUEBBIX
KOMMYHHKAIIUU. TOCYAApCTBEHHOM  COOTBETCTBUM C MU U rpaMMaTHYECKUM = BBICKa3bIBaHUM B
Y NHOCTPaHHOM IrPaMMaTHYECKUM = JIEKCUYECKUMU uu COOTBETCTBUU C
S3bIKaX; YMETh 1787} HOpPMaMU YCTHOM = JIEKCMYECKUMHU rpaMMaTH4YECKUM
Clie/10BaTh JIEKCUYECKUMU Y IUCbMEHHOU HOpPMaMH YCTHOH U U
OCHOBHBIM HOpPMaMH yCTHOM = peuu. Y IUCbMEHHOMN JIEKCUYECKUMU
KOMMYHUKATUBHBI = U IMMCbMEHHOU peun. HOpPMaMH YCTHOMN
M U 3TUYECKUM peun. Y TUCbMEHHOMN
HOpMaM, pedn, OCHOBHBIMH
MIPUHSTHIM B 1 Hauboee
npo¢eccuoOHaTBLHO pacnpoCTpaHEHHBI
M U 00MXOJHOM MU JIEKCUYECKUMHU
00IIeHnH Ha u
rocy/1apCTBEHHOM ¢bpaszeonornyecku
Y NUHOCTPaHHOM MU SIBJICHUSIMH,
SI3BIKaX. XapaKTepHbIMU
JUISt
COLIMOKYJIBTYPHOU
TEMaTHKHU.
YK-4.3. Oo6yuaromnumiics He ymeer He Bcerna ymeer | Jlonmyckaer YmMmeer VYcrHbii
OcyiecTBisier | JOJIKEH: U3BJIEKATh W3BJIEKATh HE3HAYUTeNIbHbIE = HCIOJIb30BaTh orpoc
JIEJIOBYIO 3HATh JIEKCUKO- uHpopMaLKIo U3  UHGPOPMAIIMIO U3 = OIMIMOKHU MPHU pa3IMYHbIE BUJIbI
KOMMYHHKAIIMIO = TPAaMMaTUYECKUN  HMHOS3BIYHOIO MHOSI3bIYHOTO U3BJICYCHUN 1 (GOpMBI YCTHOU
B IMCbMEHHOW | MHHHMMYM OOIIEro = TEeKCTa, TEKCTa, MHGOpPMALIUU U3 U MHCbMEHHOMN




dopme ¢
UCTIOJIb30BaHUE
M 0(UIIHATIEHO-
JIEJTIOBOTO CTHJISI
Ha
rOCyJIapCTBEHHO
M SI3BIKE
Poccuiickoii
®denepaunu, U
WHOCTPAaHHOM
SI3BbIKE, B TOM
YHCIIE C YYETOM
paBUII
OTEYECTBCHHOTO
JICITOTIPOU3BOJIC
TBa U
MEXTYHAPOIHbI
X HOPM
oopMIIeHUS
JIOKyMEHTOB.

u
TEPMHUHOJIOTHYECK
Oro xapakTepa B
o0BeMe,
HEOOXOIMMOM JJISt
paboThI C
HMHOSI3BIYHBIMU
TEKCTaMH B
IMOBCEIHEBHOM
’KU3HU U B
mporecce
npo¢eCCHOHATBLHO
U NesITeIbHOCTH.

BBIACIATH
OCHOBHYIO
UH(OPMaLHIO,
JIOTaJIbIBATHCS O
3Ha4YCHUU
HE3HAKOMBIX
A3BIKOBBIX
eIMHHI T10
KOHTEKCTY,
UCTIOJIB30BATh B
IpOILIeCCe YTCHHUS
CJIOBapH;
OCYIIECTBIIATh
JAJIOTHYECKOE U
MOHOJIOTUYECKOe
oOuieHue.

BBIACTIATH
OCHOBHYIO
nH(pOpMaIHIO,
JOTaIbIBATHCS O
3HAa4YCHUU
HE3HaKOMBIX
A3BIKOBBIX
eIMHHIL TI0
KOHTEKCTY,
WCIIOJIB30BATh B
MPOIIECCe YTCHHS
CIIOBapH,
OCYUIECTBIISATh
JMAJIOTHYECKOe U
MOHOJIOTHYECKOe
oOuieHue.

HHOS3LIYHOIO
TEKCTa, MpH
BBIJICIICHUH
OCHOBHOH
uHpopManuy,
npu
HCIIOJIb30BAHUU
B IIpoI1iecce
YTCHHUS
CJIOBapeHu,
OCYIIECTBICHUU
JIHAJIOTHYECKOTO
u
MOHOJIOTHYECKOT
0 0O0IIIEeHMS,
odopmIileHUH
pEeYEBBIX
BBICKA3bIBaHUM,
OCYILIECTBIIEHUHU
MMMCHEMEHHOT'O
OOIIICHUS.

KOMMYHHKAITUU
Ha U5 B yueGHOM
u
npo¢eCCHOHAIIbH
Ol IEATCILHOCTH,
U3BJICKATh
uHpOpPMAIIHIO U3
WHOSI3BIYHOTO
TEKCTa, BBIJICISITh
OCHOBHYIO
nHpopmaruto,
JIOTaIBIBATHCS O
3HAYCHUU
HE3HAKOMBIX
SI3BIKOBBIX €JTIHHII
10 KOHTEKCTY,
UCIIOJIb30BAaTh B
MIPOIIECCE YTCHUS
CIIOBapH,
OCYIIECTBIIATh
JUATIOTHYECKOE U
MOHOJIOTHYECKOE
oOIIIEHHE,
MIPABUIILHO
oopMIIATH
pedeBbIe
BBICKA3bIBAHUS,
OCYIIECTBIISTh
MUCEMEHHOE
oO1ieHue.




2. OueHoYHbBIE CPEACTBA, HEOOXOAMMBIE [IJISl OLIEHKHU Pe3yJIbTATOB 00yUeHHs M0
AUCHHILINHE (MOYJIIO)

Tect mis orieHku ypoBHs chopmupoBanHocTr KomneTeHnu Y K-4 Ha stane «3HaHUs»

Tect Nel
Choose the right variant

1. My friend (to work) at the factory.

a) works

b) work

c) worked

d) will work

2. This group (to go) to the theatre next month.
a) go

b) goes

c) will go

d) went

3. We (to get) books from the library last week.
a) get

b) got

c) will get

d) gets

4. | (to come) home later than usual yesterday.
a) come

b) came

C) comes

d) will come

5. This student (to answer) well at the last lesson.
a) Answer

b) Will answer

c) Answered

d) answers

6. They (to translate) the text tomorrow.

a) translate

b) translated

c) will translate

d) translates

7. He (to read) the book about Robinson Crusoe in his childhood
a) Read

b) Reads

¢) Will read

d) readed

8. We (to want) to live in peace.

a) Wanted

b) Will want

c) Went

d) wants

9. Schoolchildren (to have) the longest holidays in summer.
a) Have



b) Had

c) Has

d) Will have

10. | (to speak) with my teacher tomorrow after classes.
a) Speaks

b) Spoke

c) Spoken

d) Will speak

11.  The farmer (to like) to work in his garden every day.
a) Liked

b) Likes

c) Will like

d) like

12.  The child always (to wash) his hands before dinner.
a) Washed

b) Washes

¢) Washs

d) Will wash

13.  The teacher (to ask) the new grammar rule at the next lesson.
a) Asks

b) Asked

c) Will ask

d) ask

14.  On Sunday his little sister (to visit) grandmother.
a) Visited

b) Visit

c) Will visit

d) visits

15.  She (spend) a week in the Alps.

a) Spent

b) Spend

c¢) Will spend

d) spends

16.  He (write) letters every day.

a) Write

b) Wrote

c) Will write

d) writes

17. I (work) in a bank.

a) Will work

b) Works

c) Worked

d) work

18. I (play) tennis in the morning.

a) Play

b) Played

c) Will play

d) plays

19.  Next week he (visit) his grandparents.
a) Visited

b) Visit

¢) Will visit



d) visits

20. | know that his father (have) many books in different foreign languages.
a) Has

b) Have

c) Will have

d) Have got

21.  Usually he (be) at home on Sunday.
a) Am

b) Was

c) Are

d) Were

e) Was

f) Will be

22. | (pay) for the lunch yesterday.

a) Payed

b) Pay

c) Paid

d) Will pay

23.  She (have) a new car.

a) Have

b) Will have

c) Has got

d) had

24. In childhood Eric and Line (not to like) to get up early.
a) Didn’t like

b) Doesn’t like

c) Don’t like

d) Won’t like

25. We (be) at home next week

1. Were
2. Was

3. Will be
4. Be

Tect No2

Choose the right variant

1. My parents (be) to the USA many times.

a) have been

b) had been

c¢) will have been

d) is being

2. Julia (finish) all the housework by three o’clock and we’ll go for a walk.
a) will finish

b) will have finished



¢) have finished

d) had finished

3. Aunt Polly punished Tom Sawyer because he (be) naughty.

a) has been

b) had been

c¢) will have been

d) finishes

4. —Why are you looking so unhappy? — I (lose) my purse.

a) have lost

b) had lost

c) will have lost

d) lost

5. We are going to buy a car. By the end of next month our family (save)
money for it.

a) will save

b) will have saved

¢) have saved

d) had saved

6. Tell Tommy about these wonderful islands. He (never / hear) about them.
a) has never heard

b) had never heard

c) will never have heard

d) heard

7. The workers say that they (build up) a district by the beginning of 2000.
a) will have built up

b) will build up

c) have built up

d) had built up

8. A mother asked the children if they (buy) some biscuits for tea.
a) has bought

b) had bought

c) bought



d) will have bought

9. I (leave) some photos to be developed. Are they ready?
a) have left

b) had left

c¢) will have left

d) leave

10. She (have lunch) by the time we arrive.

a) will have had

b) will have

c) have had

d) had had

11. Mr. Jackson said that he (already/buy) everything for lunch.
a) will already have bought

b) will buy

c) have bought

d) had bought

12. ... the secretary (yet/come)?

a) will... have come yet

b) yet ...will come

c) has... come yet

d) had... come yet

13. I wasn’t hungry because I (just/have) breakfast.
a) have just had

b) had just had

c¢) will just have had

d) had

14. Take your umbrella. It (rain) cats and dogs.

a) is raining

b) was raining

¢) will be raining

15. This time tomorrow they (sit) in the train on their way to Chicago.

a) are sitting
10



b) were sitting

c) will be sitting

16. I saw a light in your window as | (pass) by.

a) is passing

b) will be passing

C) was passing.

17. 1 don’t know Spanish, but I (Iearn) it now.

a) was learning

b) will be learning

c) am learning

18. Don’t phone Jim from 5 to 6 — he (have) English.
a) will be having

b) is having

c) was having

19. While my son (wait) for my call, somebody knocked at the door.
a) Is waiting

b) was

c¢) will be waiting

20. Granny is in the kitchen. She (make) plum — cakes.
a) is making

b) was making

c) will be making

21. At the moment we (fly) over the desert.

a) will be flying

b) are flying

c) were flying

22. - I’'m not wearing sure I’ll recognize Eve. I haven’t seen her for ages.
- She (wear) a dark blue pullover and jeans.

a) will be wearing

b) is wearing

C) was wearing

23. He couldn’t speak because he (die) of laugh.
11



a) was dying

b) is dying

c) will be dying

24. Let’s go for a walk .It (not/rain) now.

a) will not be raining

b) is raining

C) was raining

25. At six o’clock I (wait) for Jennie at the station.
a) will be waiting

b) am waiting

C) was waiting

Tect Ne3

Choose the right variant

1. I met my (good) friend yesterday.

a) goodest

b) better

C) best

2. Dorothy is (young) in her family.

a) the youngest

b) the younger

C) young

3. Henry is not (strong) his elder brother Bob.

a) so strong as

b) strong as

C) stronger

4. - Itisn't very warm today, is it? - No, it was (warm) yesterday.
a) more warm

b) warmer

c) the warmest

5. Your friend looked upset yesterday. I'm glad he looks (happy) today:

a) more happy
12



b) happier

c) happy as

6. Where is (near) post - office, please?
a) the nearest

b) the next

C) nearer

7. That's (good) film I've ever seen.

a) a good

b) the goodest

c) the best

8. Public transport in London is (expensive) in Europe.
a) the expensivest

b) the most expensive

C) more expensive

9. Do you think Americans are (nice) English people?
a) nicer than

b) the nicest

c) nice than

10. The 22nd of December is (short) day in the year.
a) the short

b) the shorter

c) the shortest

11. This is (old) theatre in London.

a) an older

b) the oldest

c) the eldest

12. Pluto is (cold) of all the planets.

a) the coldest

b) a coldest

c) a colder

13. My (old) sister doesn't live with us.

a) older
13



b) elder

14. This house is (old) of all the houses in the street.
a) asold as

b) older

c) the oldest

15. Go to the library if you need (far) information.
a) farther

b) further

c) farer

16. Life is (easy) it used to be.

a) So easy as

b) more easy than

c) easier than

17. I'm getting (fat) and (fat).

a) the fattest and the fattest

b) fatter and fatter

c) fat and fat

18. The problem was (serious) we expected.
a) seriouser than

b) more serious than

19. Moscow is (large) city in Russia,

a) the largest

b) largest

c). larger

20. Let’s go by train. It’s much (cheap).
a). cheap

b). cheaper

C). the cheapest

21. Is Alan (tall) than Jim?

a) taller

b) tall

c) as tall as
14



22.1 earn (little) money than he does.
a) Hitler

b) more little

c) less

23. He has ... time than me.

a) bigger

b) much

C) more

24. Your cottage isn't (far) I thought
a) farther

b) so far as

c) as farther as

25. The boy was running ... fast... he could.
a)as ... as

b) so ... as

c)more ... than

Tect Ned

Choose the right variant

1. My brother ... speak several foreign languages.
a) may

b) can

) must

2. Can you use his dictionaries? — I'm afraid I.... He needs them.
a) can't

b) mustn't

¢) shouldn't

3. ... you pass the fruit? — Here you are.

a) Could

b) Must

c) Will

4. May | take this book home? — No, you ....
15



a) can't

b) may not

¢) you will not

5. The manager ... see me only late in the evening.

a) could

b) might

c) was able to

6. All children ... enter the park. Admission is free.

a) can

b) may

c) are allowed to

7. Some bus windows ... be opened except in case of emergency.
a) can't

b) mustn't

C) may not

8. I... leave home at 7.45 in the morning not to be late for classes.
a) ought

b) have to

C) 've got to

9. He ... change his job as his salary has been increased.
a) mustn't

b) can't

c) doesn't have to

10. If 'am in a hurry, 1... to get a taxi.

a) shall be able

b) can

) must

11. It... outside; some people have put up their umbrellas.
a) must be raining

b) must rain

¢) must have rain

12. Why ... they ... to sell the house? — Because they were going at Bristol.
16



a) were ... able

b) did ... have

c) will... have

13. You ... hurry. There is plenty of time left.
a) don't need to

b) needn't

€) mustn't

Tect NeS

Choose the right variant

1. Every year London ... by many people from all over the world.
a) is visited

b) is being visited

C) was being visited

2. The biggest museum ... by the Mayor next month, on May 24th.
a) opens

b) is opened

c) will be opened

3. Numerous banks, offices and firms ... in the City.

a) have been situated

b) situate

c) are situated

4. The City of London ... by fire in 1666 and by bombs in 1940.
a) destroyed

b) was destroyed

¢) had been destroyed

5. St. Paul's Cathedral... by Christopher Wren (1632-1723), and it... last stone was
laid in 1710.

a) was designed; believes

b) designed; believed

c) was designed; is believed

6. Nearly all English kings and queens ... in Westminster Abbey.
17



a) are being crowned

b) have been crowned

¢) had been crowned

7. The Tower of London ... as a fortress, a royal palace and a prison became a
museum.

a) was used

b) has been used

¢) had been used

8. Who ... "There Men in a Boat" ......?

a) has ... been written with

b) was ... written by

c) are ... written by

9. My computer ... repaired since last month, so | can't help you find information
you ask for.

a) has been repaired

b) is being repaired

c) was repaired

10. The child ... by a man who ran away.

a) hit

b) was hit

¢) had hit

11. The patient... by the doctor and ... to hospital.

a) examined; was taken

b) was examined; was taken

c) was examined; took

12. Linda ... a lot of flowers on her birthday last month.
a) gave

b) was given

c) has been given

13. How often ... the latest news . . .? — Every half an hour.
a) is ... broadcast

b) are ... broadcast
18



C) is ... being broadcast

14. The chief said that the contract ... the next day.

a) will be signed

b) would sign

¢) would be signed

15. Tables are made . . . wood and are covered . . . plastic.
a) in; by

b) of; with

c) from; by

16. New methods of technology ... in building houses now.
a) are using

b) are being used

¢) have been used

17. A lot of things we wear must ....

a) dry-clean

b) be dry-cleaned

¢) being dry-cleaned

18. Peter was sure that the dog could . . ., so he jumped into the river.
a) save

b) be saved

c) to be saved

19. 11 ... that the question . . .still ... in the State Duma.
a) told; had . . . been debated

b) was said; is ... debated

c) was told; was . . . being debated

20. The students . . . work hard by the new teacher.

a) made

b) were made

C) were made to

21. It ... that the scientist has made a new discovery.

a) is known

b) had been known
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) was known

22. Traffic rules ... followed.

a) can be

b). must be

C) may be

23. The terrorists ... by the police.

a) want

b) are wanted

c) are wanting

24. The girl didn’t suspect that she ... at as she spoke.
a) was being laughed

b) laughing

c) laughed

25. The chairman said that such an important fact should ... on.
a) comment

b) be commented

¢) being commented

Tect Ne6

Choose the right variant

1. My friend Jack lives ... 55, Main Street ... Apartment 20.
a) in; in

b) at; in

c) on; at

2. He likes reading books by American authors of... century.
a) nineteen

b) the 19th century

¢) the nineteen

3. There are more than three ... year-files of magazines and newspapers in
the reading-room.

a) hundred

b) hundreds
20



¢) hundred of

4. ... people watched the Olympic Games on television.

a) millions
b) Millions of
¢) Million

5. Are all the students here? — Two-thirds of the group ... absent.

a) are

b) is

6. Helen felt tired; three miles ... too far to walk.
a) was

b) had

C) were

7. Twenty dollars ... too much for such a trifle.
a)is

b) are

8. The friends were just in time to catch ... train.
a) 4 o'clock

b) the four o'clock'’s

c) the four o'clock

9. Henry ..., the Tudor king of England, became known for
his marriages.

a) Eight; a

b) the Eighth; the

c) Eighth; the

10. The Beatles were very popular in ... and the mid ....
a) the 1960s; 70s

b) 1960;1970

¢) 1960;70s

11. Japan’s surrender marked the end of ... .

a) the World War Two

b) World War Il

c) the Second World War
21
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12. What does she want? — A dozen ... eggs and a pound ... raisins.
a) - ; of

b) of; of

c) - -

13. There are two ... in my telephone number.

a) 6

b) 6’s

¢) 6th

Tect Ne7

Choose the right variant

1. Teddy's words made me (feel) uncomfortable.

a) to feel

b) feeling

c) feel

2. Mrs. Pottson allowed her guests (smoke) in the living-room.
a) to smoke

b) smoking

) smoke

3. Has the secretary come yet? | want to have my papers (type).
a) to type

b) type

c) typed

4 . |1 watched my cat (play) with her kittens. | couldn't tear myself away from that
funny sight. '

a) played

b) playing

c) to play

5. Granny didn't want my Mom (marry) my Dad.

a) marry

b) to marry

) married
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6. Our English teacher told us (not / feel) shy and speak English as much as
possible.

a) not to feel

b) not

c) felt

7. | have to get my photograph (take) for a new passport.
a) took

b) take

c) taken

8. There wasn't much traffic in the street. | saw a little girl (cross) the road.
a) crossed

b) cross

c) to cross

9. I have never heard Helen (sing).

a) sang

b) sings

C) singing

10. Mary would like her brother (avoid) Tom's company.
a) to avoid

b) avoid

c) avoided

11. We expected the Harrisons (arrive) later than usual.
a) to arrive

b) arrive

c) arrived

12. What makes you (do) such rash actions?

a) do

b) to do

¢) doing
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KonTtpoabnas padora

KonTponbHble 3aganus Uit OLIEHKU YpoBHs chopmupoBaHHOCTH KomneTeHunu Y K-4 na
aTane «YMeHUs».

KonTtpoabsnas padora Nel

1. Read and translate the text using a dictionary. Answer the following questions.

Conductance and Electrolysis

Generally speaking, the classification of a substance as a non-electrolytic or as an
electrolytic is based on the conductance of its aqueous solution. Aqueous solutions of non-
electrolytes do not conduct an electric current to any greater extent than pure water docs,
whereas aqueous solutions of electrolytes conduct an electric current and undergo electrolysis.
Weak electrolytes give solutions which arc relatively poor conductors because of a limited
degree of ionization. On the other hand, aqueous solutions of strong electrolytes readily conduct
an electric current.

If a strong electrolytic is formed as a result of a chemical reaction involving two weak
electrolytes, the conductance of the resulting solution increases. If the ions of a strong
electrolytic are removed from solution as an insoluble precipitate, or from a weak electrolytic
with the ions of another reactant, the conductance of a mixture of the reactants is less than that of
the strong electrolytic. After the reaction is complete, the conductance will increase upon further
addition of the second reactant, provided the latter is a strong electrolytic.

Electrolysis always accompanies the passage of a direct current through an aqueous
solution. Cations arc reduced to a lower oxidation state, some of them to the free state, at the
cathode; anions arc oxidized to ions with a higher oxidation state, or to the free state, at the
anode.

1. What is the basis of the classification of a substance as non-electrolytic or as an
electrolytic?

2. Why do weak electrolytes give solutions which are relatively poor conductors?

3. How can the conductance of the resulting solution be increased?

4. In what case is the conductance of a mixture of the reactants less than that of the strong
electrolytic?

5. What accompanies the process of electrolysis?

2. Use the proper article.

1. T have ... friend who has travelled all over ... world. 2. ... Caucasus Mountains lie between ...
Black Sea and ... Caspian Sea. 3. St. Petersburg is ... large city, it stands on ... Neva. 4.
Thousands of people go to ... Mediterranean Sea in summer. 5. What is the capital of... Canada?
6. ... Pamirs, which are called ... «Roof of ... World», are in ... Asia. 7. On our trip to ...

24



United States and ... Mexico we crossed ... Atlantic Ocean. 8. ... Spain is in ... south of...
Europe. 9. ... President of... USA lives in ... White House. 10. ... Declaration of Independence
was drawn up in 1776. 11. ... expression on his face frightened her.

KonTpoabHas padora Ne2
Read and translate the text using a dictionary. Answer the following questions.
Gold

Perhaps no other metal has played such an important part in the destiny of man as gold
has. For centuries, it has stood as a barometer of wealth and nobility. To secure it, men have
fought, suffered and died. Countries have been founded through the search for it; kingdoms have
been lost because of it.

Why?

Well, we can supply three reasons. Value. Beauty. Permanence. Obviously, there is a
limited supply of the metal available which increases its value. The fact that it is usually found
free in nature makes it easy to mind — if you can find it. That it is attractive, we cannot deny.
There are very few people who do not appreciate the warm, shining yellow beauty of gold. (We
would greatly appreciate having some.) And, finally, its appearance is quite permanent.
Aluminum becomes dull, iron rusts, copper corrodes, silver tarnishes, but gold remains the same.
(Although, it must be dusted occasionally.)

Despite our glowing words above, metallic gold has very few practical uses. It is really a
metal to be looked at, not to be used, about its only use at present is in the manufacture of
jewellery. And even then it must be alloyed with other metals, usually copper or silver, as it is
too soft to be used in the pure state.

Gold is inactive and is not attacked by oxygen or ordinary acids. It docs, however, react
readily with chlorine to form gold (auric) chloride, AuCI3. Thus, we can dissolve it in aqua regia
or chlorine water, both of which supply chlorine.

It is owing to its remarkable properties that gold as well as platinum are increasingly used
in some fields where particular accuracy and reliability are needed.

1. What role does gold play in the destiny of man?
2. What changes can other metals undergo except for gold?
3. What practical uses does gold have?
4. What chemical features does god have?
5. Inwhat fields is gold used as well as platinum?
2. Fill in the gaps. Use a little, a few.

1. I take ... sugar in my coffee. 2. Can you spare ... minutes? 3. We exported ... tea last year. 4.
There were ... clouds in the sky. 5. ... people went swimming although it was very cold. 6. ...
kinds of meat were available in the store. 7. We saw ... shops along the street. 8. She still has ...
shopping to do. 9. There were ... pieces of chalk left in the box. 10. Would you like ... more ice
cream? 11. May I offer ... more carrots?
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KonTpoabHast padora Ne3

1. Open the brackets using the correct form of the Passive Voice.

1. A very significant contribution to the world science (to make) by Russian people.

2. The Periodic System of elements (to speak) of as the beginning of the new era in chemistry.

3. Many thousands of experiments (to make) by the scientists before the Periodic Law (to
discover).

4. As a result the scientist created the system of classification in which all the elements (to
arrange) in order of increasing their atomic weights in eight groups.

5. In this table some gaps (to leave) for unknown elements.

6. The discovery of scandium (to follow) by the discovery of gallium in 1879 and of germanium
in 1886.

7. Many new previously unknown elements (to discover) since that time and filled the gaps in
the periodic table.

8. One of these new—found elements (to call) mendelevium, it was the element number 101.

2. Fill in the gaps. Use until, since, for.

1. I've lived in America ... [ was five years old. 2. He said he would be away ... Monday. 3. I've
been married ... five years now. 4. Mom and Dad have gone away ... a few days. 5. Wait here
... I come back. 6. I stayed up ... three in the morning. 7. It has been raining ... he arrived. 8. |
have been studying ... half an hour. 9. I have been away ... 5 o'clock. 10. I am going on a
holiday ... three weeks. Can you feed my cat?

3. Fill in the necessary prepositions.

1. I bought a new dress ... the store. 2. I found my keys ... my pocket. 3. My friends are waiting
.. me ... the mall. 4. I saw the horse jumped ... the fence. 5. Cathy lives ... her parents ... small
house. 6. We took a taxi ... the airport.

KonTtpoabnas pa6ora Ned
1. Open the brackets using Past Perfect, Past Indefinite, Past Continuous.

1. When we came into the room, Mary (to stand) before the looking- glass and (to comb) her
hair. 2. We (to finish) dinner when father came home from work. 3. | went for a walk after 1 (to
do) my homework. 4. When my friend came | (to do) the sum and (to write) it down in my
notebook. 5 Jack left before she (to show) him the telegram. 6. What did you do yesterday? - A
little of everything. | (to read), (to write) letters and (to walk) and (to do shopping). - And after
you (to do) all these things? - | (to watch) TV. 7. You had to finish the work yesterday. How
much work you (to do) by 12 o'clock? 8. He said he (to find) the watch he (to lose) the day
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before. 9. He said he (to know) the man when he lived in New York. 10. By what time (to do) all
the exercises?

2. Complete the sentence so that the action of the subordinate clause is simultaneous with
the action of the main sentence or precedes it.

A. 1. My friend is sure that he ... (to play chess) better than I do. 2. My friend was sure that he
... (to play chess) better than I did. 3. She says that she ... (to be tired) 4. She said that she ... (to
be tired). 5. Peter says that he ... (to teach) Jane to swim last summer. 6. Tom says that he ... (to
lose) his record book. 7. She said that her little sister ... (to be ill) ill) for a fortnight.

B. 1. He said that his mother ... (to be ill). 2. He said that his mother ... (to fall ill). 3. She said
that she ... (to pack) already her things. 4. Ann told her mother that she ... (to break) her watch.
5. 1told Rose that I ... (to be ready) to go. C. 1. He said that he ... (to wait) for me after classes
today. 2. Rita told her mother that she ... (to get up) early next morning. 3. She said that she ...
(to go) by bus. 4. I told Alex that I ... (to help) him.

KonTpoabHasi padora NeS
1. Read and translate the text using a dictionary.
Do we need nuclear power?

With rising fuel costs, concerns about global warming and the growing demand from
the developing world for energy, the burning question is whether the world needs nuclear power.
Peter Hodgson, a nuclear physicist, says yes. Dennis Anderson, an economist, says that we
should first explore the possibilities of renewables and other forms of energy.

Our civilization and our standard of living depend on an adequate supply of energy.
Without energy, we would not be able to heat our homes or cook our food. Long-distance travel
and communication would become impossible, and our factories could no longer produce the
goods that we need. A century ago the world's energy came almost wholly from coal and
«traditional» sources, such as wood, crop residues and animal dung.

These are still major sources of energy, particularly in developing countries, where 2
billion people are without access to, or cannot afford, modern energy forms. Wood and dung are
estimated to provide an amount of energy equivalent to 1 billion tons of oil each year; it is
sobering to realize that this is 16 times more energy than is provided worldwide by nuclear
power, and is about the same as the amount of energy provided by coal in Europe and the US
combined.

Energy markets in the industrial countries are maturing, and may even peak and decline
with continued improvements in energy efficiency. The last two centuries saw energy efficiency
increase enormously — in motive power, electricity generation, lighting, in the use and
conservation of heat, and in an array of other applications.

The situation is different in developing countries, where billions of people have hardly
enough energy to survive, let alone enough to increase their living standards. If they are to
achieve prosperity, their energy needs - which are doubling every 15 years - will have to be met.
Moreover, their population will soon be 7-10 times greater than that of the industrial world, and
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(with the sad exception of several African countries) economic growth is much higher than it is

for industrial nations.

2. Complete the sentences by expressing the future action in subordinate clauses of time

and condition.

1. I'll go home when our lessons ... (to be over). 2. I'll ask him about it when I ... (to see him). 3.
I'll go to the library if I ... (to have time). 4. We'll take a walk when we ... (to finish) our work.
5. I'll go fishing tomorrow if the weather ... (to be) fine. 6. When he (to come), we (to go) to the
cinema. 7. If she (to be) at home she (to help) me. 8. She (to return) the book to you when she (to
read) it. 9. If he (not to come) we (to start) without him. 10. If she (not to be) well, we (not to go

swimming).

Ilepeuennb BOmpocoB i OIICHKU YPOBHS chopmupoBaHHOCTH Komnetennu YK-4 na
yrane «Brnagenusy.

1. [ToAroToBUTH YCTHBIE COOOIIEHNUS 10 TEMaM:

1. Beigaronuecs: yueHble U UX JTOCTUKEHUS

2. BBeieHne B O0ILIEHAYYHYIO JIEKCUKY

3. UetbIpe CHIIBI

4. ABTomMaTu3anusa U poOOTH3AIUS

5. Hayka u TexHosoruu

7. Briciiee TexHMUECKOE 00pa3oBaHUE

2. BI:Iy‘-II/ITB JICKCUYCCKHUEC CAHWHHUIBI II0 pa3aciiaM: BBCACHHUC B (1)1/131/11(}’, BBCIACHUEC B
06meHaquy10 JICKCHUKY, aTOMBI B IBUKCHUU.

3. Meroanyeckune MaTepHaJibl, ONpe/e/isiloliue mpoue1ypbl OLeHUBAHUS Pe3yJIbTATOB
00y4eHHs 1O AUCHHUILIMHE (MOYJII0), ONIMCAHHE IIKAJI OLleHUBAHUSA

PeliTUHI-IIJIaH JUCHUILIMHBI

3AUET
Buab1 yueOHoil 1eATEIbHOCTH bajna 3a Yucao MunuMmaiabH | MakcuMaJIbHBI
CTYCHTOB 3aaHue 3aJaHuil 3a bl 0as1 i 0ana
MOYJIb 0 100 (+10)
Moayas 1 0 50
Texymmii KOHTPOJIb 0 25

1. AynutopHas paboTa
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1.1. YcTHBIH onpoc 1o Temam 1 8 0 13
1.2. IlepeBoa TekcTa Mo 2 6 0 12
CTEeUATBHOCTU
Py0e:xHbIli KOHTPOJIb
Tect 1 0 25
Moayas 2 0 50
Texkyuuii KOHTPOJIL 0 25
1. Aynuropnas pabota
1.1. YcTHBIH onpoc 1mo Temam 1 8 0 13
1.2. TlepeBox TekcTa 1mo 2 6 0 12
CIEeLUaIbHOCTU
Py0eskHbIi KOHTPOJIb 0
Tecr 1 0 13
KontponbHas pabota 1 0 12
Hroro 0 100(+10)
PelTHHI-IUIAH QM CHUTIMHBI
35K3AMEH
Buab1 yueOHoii 1eATEIbHOCTH bana 3a Yucao MunumanabH | MakcuMaJIbHBI
CTY/ICHTOB 3ajaHue | 3aJaHuUM 3a blIil 0211 i 6aJ
MOJYJIb 0 100(+10)
Monayas 1 0 35
Texkyumii KOHTPOJIb 0 20
1. Ayautopnas pabota
1.1. YerHsiit onpoc no Temam 1 8 0 13
1.2. IlepeBon Tekcta no 1 7 0 7
CMeLHaNIbHOCTU
Py0e:xxHbIN KOHTPOJIb 0
KonrtponsHas pabora 1 0 15
Monayas 2 0 35
Texkymuii KOHTPOJIL 0 20
1. AynuropHas paboTa
1.1. YcTHBII onpoc 1o TeMaM 1 8 0 13
1.2. IlepeBop TekcTa 1Mo 1 7 0 7
CMEeLHaNTbHOCTH
Py0e:xxHbIN KOHTPOJIb 0
Tecr 0 10
KonrtponbHas pabora 1 0 5
HTorosslii KOHTPOJIb 0
DK3aMeH 0 30
Hroro | 0 100(+10)

Kpurtepun ouenku TectoB Nel, Ne2, Ne3, Ne5 (B 6as1ax)
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«OTnuyHO» - 25 6aNIIOB BBICTABIIACTCS CTYIEHTY, eciu BbimonHui 100%
«Xopomo»- 20-24 Gaa BBICTABISIETCS CTYACHTY, €Cli BBIIOIHII OT 80%-99%;

«Y noBierBoputensHo» - 10-19 6amioB BBICTAaBISETCS CTYICHTY, €CIIM BBITOJHWI OT
40%-79%);

«HeynosnerBopurensHo» - 0-9 6annoB BHICTaBISAETCS CTYACHTY, €CIIU BHIMOIHWI OT 0%-

39%.

Kpurepun ouenku TectoB Ned, Ne6, Ne7 (B 6asiiax)

«O1nryHOY - 13 GaJIOB BBICTABJISAETCS CTYACHTY, eciu BoimoaHmT 100%

«Xopomo»- 10-12 GayioB BbICTABISIETCS CTYACHTY, eciii BRIIOIHII OT 80%-99%;

«Y IOBJIETBOPUTENHHOY - 5-9 0aIOB BBHICTABISAETCS CTYACHTY, ecii BHIMOIHUI OT 40%-
79%;

«HeynosnerBoputenbHo» - 0-4 0asioB BBICTABIISCTCS CTYACHTY, €CIIU BHIMOIHWI OT 0%-
39%.

Kpurepun ouenku KonrposbHoii padoTsl (B 6a/171aX)

«OT1anaHo» - 12 GasioB BBICTABISAETCS CTYACHTY, eciu BeimonHua 100%

«Xopomio»- 9-11 GannoB BeICTABISAETCS CTYACHTY, €Ciu BIMOIHUI OT 80%-99%;

«Y IOBJIETBOPUTENHHOY - 4-8 0ayIOB BBICTABISETCS CTYACHTY, ecii BRIMOIHUI oT 40%-
79%;

«HeynosnerBoputenbHo» - 0-3 0asioB BBICTABIISCTCS CTYACHTY, €CJIU BBIMOIHUI OT 0%-
39%.

Kputepun onenkn YcTHoro onpoca (B 6aj1iax)

«OtnnaHo» - 13 0amiaoB BBICTABISETCA CTYAEHTY, €CIM CTYAEHT Jall TOJHBIE,
pa3BepHyTBIE OTBETHI Ha Bce Bompochl. CTyaeHT Oe3 3aTpyIHEHWH OTBETWJI Ha BCE
JOTIONTHUTEIbHBIE BOMpOChl. [IpakThyeckas dYacTh pPaOOTHl BBINOJHEHA TIOJHOCTHIO 0e€3
HETOYHOCTEH U OIIHOOK.

«Xopomo» - 10-12 6amioB BBICTaBISETCS CTYIACHTY, €CIIA CTYACHT JIaJI MOJHBIE OTBETHI
Ha Bce Bonpochl. CTYAEHT OTBETUII Ha JOMOJHUTENbHbBIE BONPOCHI. [IpakTHueckas 4acTh paboTh
BBINTOJIHEHA C HE3HAYUTEIbHBIMU OIIMOKAMHU.

«Y IOBIIETBOPUTEIBHO» - 5-9 0ayioB BBICTABISETCS CTYAEHTY, €CIM CTYAEHT Aal
HEMOJIHbIe OTBEThl Ha Bce BONPOCHL. CTYyAEHT HE OTBETMJ HA JIOMOJHHUTEIbHBIE BOIPOCHI.
HpaKTI/I‘-IGCKaSI qacCTb pa6OTBI BBITIOJIHEHA C OIIMOKAMU M HETOYHOCTSIMHU.

((HCYILOBHCTBOPI/ITCJIBHO» - 0-4 GamIoB BHICTABIISIECTCS CTYACHTY, €CJIM OH OTKa3aJICAd OT
OTB€TAa HWJIM HE CMOI' OTBCTHTH Ha BOIIPOCEHIL. CTy)IeHT HE CMOI' OTBCTUTH HH Ha OJHH
I[OHOJ'IHI/ITC.HBHHﬁ BOIIPOC. HpaKTI/I‘-ICCKa}I 4acCTb pa6OTBI HC BBIIIOJIHCHA.

Pe3ynbrartel 00ydeHHs] MO JUCHUIUIMHE (MOAYNIO) y OOYyYaroIIMXCS OLEHUBAIOTCS IO
UTOTaM TEKYIIEr0 KOHTPOJSI KOJMYECTBEHHOM OIEHKOW, BBIPA)KEHHON B PEUTHMHIOBBIX Oaiax.
O1ieHKe MOICKUT KAXKI0E KOHTPOIEHOE MEPOTIPHUSITHE.

IIpu ouenuBaHNM CHOPMHUPOBAHHOCTU KOMIIETEHIIMH MPUMEHSETCS YeThIpEeXypOBHEBas
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[IKaJia «HEYIOBJIETBOPUTEIBHOY, «YIOBICTBOPUTEIBHO, «XOPOLIOY, KOTIUYHO.

MakcuManbHbId Oaml MO KaXAOMY BHAY OIICHOYHOTO CpEACTBAa OIpeaensieTcss B
peiTuHr-miane u BeipaxkaeT noaHoe (100%) ocBoeHne KOMIETEHIIMH.

YpoBeHb c(HOpMHPOBAHHOCTH KOMIETEHIIMH «XOPOIIO)» YCTaHABIMBAETCS B Cllydae,
Korzia 00beM BBITIOJTHEHHBIX 3aJJaHMi COOTBETCTBYIOIIETO OIIEHOYHOTO cpenicTBa cocrapisier 80-
100%; «ynoBiieTBOpUTENBHO» — BBINIOIHEHO 40-80%); «HEYIOBIETBOPUTEIBHO» — BBINOJIHEHO (-
40%

PeliTunroBeiii  Oaymul 32 BBINOJHEHHWE YacTH WM IMOJHOTO oObeMa  3aJaHHid
COOTBETCTBYIOIIETO OIICHOYHOTO CPEJCTBA BBICTABISETCS 1O (hopMyJIe:

Petitunrossiii 0ayut = k x MakcuManbHBIH Oa,

rae k = 0,2 mpu ypoBHE OCBOEHHS «HEYAOBJIETBOpUTENIBbHO», k = 0,4 Tpu ypoBHE OCBOCHUS
«yzaoBneTBopuTenbHOY», k = 0,8 npu ypoBHE 0cBoeHHUs «xopoio» U k = 1 mpu ypoBHE OCBOEHUS
«OTJIMYHOY.

OneHka Ha 3Tarne MPOMEKYTOYHOU aTTecTalluM BhICTaBisieTcst coryiacHo Ilonoskenuto o
MOJIyJIbHO-PEHTUHTOBOM crcTeMe 00yUeHUs U OLIEHKH YCIIeBaeMOCTH cTyiIeHTOB Y YHuT:
Ha sx3amMeHe BbICTaBISETCS OLIEHKA:
* OTJINYHO - ipu HakomieHnH OoT 80 10 110 pedTHHroBBIX 6ayIoB (BKiIrOUYas 10 mOOmpUTENEHBIX
6ayioB),
* XOpOILIO - IIpU HaKoIUIeHU! oT 60 10 79 peUTHHIOBBIX OaNIOB,
* YZIOBJIETBOPUTENILHO - IPU HAKOIICHUH OT 45 110 59 peTHHroBBIX 0asioB,
* HEY/I0BJIETBOPUTEIILHO - IIPU HAKOILJIEHUH MeHee 45 pedTUHTOBbIX 0aJlIoB.
Ha 3ayere BbICTaBIIsI€TCS OLICHKA:
* 3a49TeHO - ipu HakorieHUH oT 60 10 110 peliTuHTOBEIX OauToB (BKIHOYas 10 MOOMIPUTETHHBIX
6ayioB),
* HE 3aYTEHO - Npu HaKomieHuu oT 0 10 59 peTHHroBbIX OaIOB.

[Ipu nonydyeHHH Ha SK3aMEHE OLEHOK «OTIUYHOY, «XOPOIIOY, «yI0BIECTBOPUTEIHHOY, HA
3a4éTe OLICHKHU «3auTE€HO0» CUUTAETCS, YTO Pe3y/lbTaTbl OOyYeHUsS M0 AUCLMILIMHE (MOIYJIIO)
JIOCTUTHYTHI 1 KOMIETSHIIMH Ha 3Tare N3y4eHUs JUCIUILTUHBI (MOIYs1) CPOPMUPOBAHBI.
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